1) The following table shows the percentage (%) distribution of production of bicycles of two different
maodels (L and M) by the six companies A-F, ratio of production of model L to that of M, and the per
cent (%) profit earned on these two models. Production cost of the six companies together is X 6.4
crore.

Company-wise Bicycle Production and Profit

Production
9% Distribution of Production % Profit
Company Ratio
of Bicycles
M L | M
A 20% 13 7 [259%i32%
B 14 % 5 |28%(30%
& 22 % 5 20924 %
D 13% T |359%25%
E 10% 3 24%R1%
F 21 % 11 10 (309%20%

Profit earned by Company A on model L (in X crore) is

1.0.244
2.0224
3.0208
4, 0248

Rufifea @ifte A-F 88 sufa g Rl & af B afsdt @ R wm & T fRu sl
(%), ATST L ® HISH M & JUIGA ST U, #R 37 &l Alsal o= Sl o &1 ufwd (o) 2 81 88
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L M L™
A 20 % 13 7 25 %32 %
B 14% 9 5 28 %(30 %
c 2% A 5 20 %[24 %
D 13 9% 6 7 359625 %
E [10% 2 3 24 %(21 %
FooR1% 1 10 30%20%
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1.0.244
2.0224
3.0208
4.0.248



[Question ID = 106][Question Description = 101_0_GP18_SEP22_S2_Q01]

1
2
3.
4

2) The following table shows the percentage (%) distribution of production of bicycles of two different
maodels (L and M) by the six companies A-F, ratio of production of model L to that of M, and the per
cent (%) profit earned on these two models. Production cost of the six companies together is 6.4

. 1 [Option ID = 421]
. 2 [Option ID = 422]
3 [Option ID = 423]
. 4 [Option ID = 424]

crore.

Company-wise Bicycle Production and Profit

Production
% Distribution of Production % Profit
Company Ratio
of Bicycles
L M L M
A 209% 13 7 |25%i32 %
B 14 % ] 5 |28%(30%
& 22 % 5 20 %24 %
D 13% 7 |35 %25 %
E 10% 3 24 %121 %
F 21 % 11 10 (309%20%

Profit earned by Companies B and C together on Model M (in X crore) is

1.024%
2.0.2488
3. 0.2466
4, 0.2844



Fafafes aitieT a-F 38 SuRT gRIORREE & ot iF #isal @ IR v & I Bao &1 ulieg
(%), ATST L B HISHT M & JAIGA &1 U, IR 57 &l Hisa o= (e o &1 ufaera o) 39 81 88
HURT &1 HA TG T T 64 TUS & |

el e S e R o | R
mﬁlﬂm&ﬁmm% R
L M L ™M
rz 20 % 13 7 25 %32 %
8 [14% 9 5 28 %30 %
c  22% 6 5 20 %24 %
D 3% 6 7 35 9%/25 %
£ 0% 2 3 24 %21 %
Foo1% 11 o 30%20%
B 3R ¢ UG ERIASH MR ARlT Ha o @IS 39) Aemr fbane 2
1.0.2496
2.02488
3.0.2466
4,0.2844

[Question ID = 107][Question Description = 102_0_GP18_SEP22_S2_Q02]
1. 1 [Option ID = 425]
2. 2 [Option ID = 426]
3. 3 [Option ID = 427]
4. 4 [Option ID = 428]



3) The following table shows the percentage (%) distribution of production of bicycles of two different
maodels (L and M) by the six companies A-F, ratio of production of model L to that of M, and the per
cent (%) profit earned on these two models. Production cost of the six companies together is X 6.4
crore.

Company-wise Bicycle Production and Profit

Production
% Distribution of Production % Profit
Company Ratio
of Bicycles
M L M
A 20 9% 13 7 25 %32 %
B 14 % 9 5 |[28%i30%
E 22 % 5 [20%i24%
D 13% 7 [359%25 %
E 109% 2 3 24 %121 %
F 21 % 11 10 |30 9%120%

The ratio of the cost of production of model L by Company D to that of model M by Company F is

1.4:5
2.3:5
3:5:¢7
4,1:2

Fafifed Tifie A-F 88 SURT s uRfbe & a1 fBE #isat @ IR M) & IO B a1 ulied
(%), ATST L B Hige M & IATGA &1 U, #R 39 &l Hisa o= S o &1 ufia (o) 2k 81 88
HUAT BT H ITGA TG L 64 DA B |

ueit-ar wrEfe gares iR ary
U e FeTe R g6 o e % T

L M L M
A 20 9% 13 7 25 %32 %
i 14 % 9 5 28 %30 %
C 22% ] 5 20 %24 %
O 13 % 3] 7 35 %25 %
E 10 % 2 3 24 %121 %
= 21 % 1 10 30 %20 %

D HUATGRIAISH L & FTeA ANTH &1 F HUAT R ATSH M BT JTa AFTd 9 $UTd Rrag 2

1.45
2.35
357
4.1:2



[Question ID = 108][Question Description = 103_0_GP18_SEP22_S2_Q03]
1 [Option ID = 429]
2 [Option ID = 430]
3 [Option ID = 431]
4 [Option ID = 432]

HwnN =

4) The following table shows the percentage (%) distribution of production of bicycles of two different
maodels (L and M) by the six companies A-F, ratio of production of model L to that of M, and the per
cent (%) profit earned on these two models. Production cost of the six companies together is X 6.4
crore.

Company-wise Bicycle Production and Profit

Production
9 Distribution of Production % Profit
Company Ratio
of Bicycles

M L M
A 209% 13 7 25 9%i32 %
B 14 % 5 [28%30%
& 22 % 5 [209%24%
D 13 % 7 [359%25 %
E 10% 3 [24%121%
F 21 % 11 10 |30 %20 %

The difference between the profit earned by Company C on model L and by Company E on model M
(inT crore) is

1.0.7296
2.7.296
3.0.03648
4, 007296



Faffe Tl A-F 38 $uRT R uRhe & &t fim Algat L IR M) & IJaeT @B &1 ufd
(%), HIST L T ISt M & SHIGA B U, HR 37 &1 Aiea ux T o &1 ufowd o) 30T 81 88
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m‘mmmm% sindls it ol o nd

L M L ™
A 20 % 13 7 25 %32 %
B 14 % 9 5 28 %30 %
C 22 % 6 ) 209%i24 %
D [13% 6 7 35 %25 %
13 10 % 2 3 24%21 %
| 21 % 11 10 30 %(20 %

HUAT ¢ GRIATEE L TR R T 3R AT £ GRTATSH MR TS &7 SiaR @71S 3 #) faan
g2

1.07296
2. 7296

3. 0.03648
4. 007296

[Question ID = 109][Question Description = 104_0_GP18_SEP22_S2_Q04]
1. 1 [Option ID = 433]
2. 2 [Option ID = 434]
3. 3 [Option ID = 435]
4. 4 [Option ID = 436]



5) The following table shows the percentage (%) distribution of production of bicycles of two different
maodels (L and M) by the six companies A-F, ratio of production of model L to that of M, and the per
cent (%) profit earned on these two models. Production cost of the six companies together is X 6.4
crore.

Company-wise Bicycle Production and Profit

Production
9% Distribution of Production % Profit
Company Ratio
of Bicycles
M L | M
A 20% 13 7 [259%i32%
B 14 % 5 |28%(30%
& 22 % 5 20924 %
D 13% T |359%25%
E 10% 3 24%R1%
F 21 % 11 10 (309%20%

The ratio of the profit earned on model L by Company B to that of model M by Company D is

1.36:25
26
378
4,.123:97

Frafafeg Tt a-F 38 SuRa g uEihe & a1 BE alset @ IR v & Iae B a1 ufied
(%), HISA L ¥ HIST M & JUTGH &1 S-UTd, 37N 39 a1 Afgat ur ififa o &1 uftwrd (s6) 22fdt 81 8%
HUAT B FA ITGA AT T 64 TUS & |

ke | s e R 5 s
Ut TR FaTe R g o e % T

L M L M
A 20 9% 13 7 25 9%(32 %
8 14 % 9 5 289%30 %
C 22 % B S5 20924 %
0o 13% 6 7 35 %25 %
'3 10 % 2 3 24 %121 %
F 21 % 11 10 30 %20 %

HUT B ERIATST L TR ARG A HTHYAT D gRIAGAM TR 3ifd O 8 iU e e 2

1.36:25
2,85
3.78
4.123:97



[Question ID = 110][Question Description = 105_0_GP18_SEP22_S2_Q05]
1. 1 [Option ID = 437]
2. 2 [Option ID = 438]
3. 3 [Option ID = 439]
4. 4 [Option ID = 440]

Topic:- GP_SH1_S2_B

1)

Which of thie following represents learning as a six-level hierarchy in a cognitive domain?

1, Bloom's Taxenomy
2, S0OLO Taxonomy
3, Brigg's Taxonomy
4, Gagne's Taxgnomy

HERIRET # § & H-S OHHD 67 H B5-w1 4 UarmH & w9 A SEH S vaRid aede 7

1, 8 GG
2, Tl (SOLO) TR
3, g @ aiieem
4, TR BT G0

[Question ID = 111][Question Description = 106_0_GP18_SEP22_S2_Q06]
1. 1 [Option ID = 441]
2. 2 [Option ID = 442]
3. 3 [Option ID = 443]
4. 4 [Option ID = 444]

2)
Which of the following models for curriculum evaluation considers three primary sources of

eurriculum namely students, sodiety and subject matter reflecting the philosophy of education and
paychiology of learning,

1, CIPP miodal

2, Stake's model
3, Tyler's model

4, Seriven's model

gTEEd | gedie & FERiEd 1§ 4 g Aie & SuR UBeerd ] & o W ie | 9 T, iy
e g a7 oo o, <11 f2ra & &2 SR S e & g1aeH S Wi lEeT e & 7

1 e gt AisH

2 B @I HIed

3 ERTR @1 H1ed
4, TG BT HIST

[Question ID = 112][Question Description = 107_0_GP18_SEP22_S2_Q07]
1. 1 [Option ID = 445]
2. 2 [Option ID = 446]
3. 3 [Option ID = 447]
4. 4 [Option ID = 448]



3)
Which of thie following must be ensured by a 217 Ceritury Higher Education teacher?

A, Preparing students towards Higher Order Thinking Skills
B, Placements of studerits

C, Using digital resources

D, Interaction with bright students only

E. Iriter-disciplimary approach

Choose the correct answer from the options given below

1.4, Cand Eonly
2.4 Cand D only
3.4 C D and Eonly
4 4B CandDanly

FofiET # 9 @H-1H 4 21 9 g6l & Jea? [Ba g gR1 gH R e ST 91e 7
A, [T @7 AR S o F=e $ & T SR S

B, et T FgTem

C. [ERree TmrET STugh

D. gt AT gl & Ty uRRR i

E, 3{e¥-fasaTd QUi

e B e feed! # O wE SR

1. HAAA CHRE
2, AT A, CHR D
3. HaAA CDIRE
4, HIAA B CHRD

[Question ID = 113][Question Description = 108_0_GP18_SEP22_S2_Q08]
1. 1 [Option ID = 449]
2. 2 [Option ID = 450]
3. 3 [Option ID = 451]
4. 4 [Option ID = 452]



4)
Given below are two statermnents

Statement I: Laarning Management Syster (LMS) is used to provide a wirtual enviraniment for
teachers and students,

Statement |l: LIS can be used for blended learning as well as for anling learning,
Imlight of the abowve statements, choose the most appropriate answer from the opticns given below

1, Both Staterment | and Statement!l are corract

2, Both Statement | and Statemeant!are incorract

3, Staterment | iz corract but Statement || is incorract
4 Staterment | isincorrect but Statement || s correct

T e HyT Ru g
HYT - | HETT WU WO (057 OF ) &1 U1 e TR et & O aeeret aT e wa
HIH @ 8 fBaTaT e |
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1, Y AR S TR |
2, Y | AN BT IR
3 WY UE R, g myT | TEa e |
4, Y | T B, i YT | T8 B

[Question ID = 114][Question Description = 109_0_GP18_SEP22_S2_Q09]
1. 1 [Option ID = 453]
2. 2 [Option ID = 454]
3. 3 [Option ID = 455]
4. 4 [Option ID = 456]

3)
Wbich of thie following types of assessmentis-done for giving grades/marksfcredits to the students?

1, Forrmative
2, Integrative
3 Diagnostic
4, Summative

[qeniat & vessiw/diee o & [ Fafiiad 9 € by UaHR &1 5ol [BaTam 6 7
1, FHITRHS

2, HHHOTTHE

4, Yo HE

[Question ID = 115][Question Description = 110_0_GP18_SEP22_S2_Q10]
1. 1 [Option ID = 457]
2. 2 [Option ID = 458]
3. 3 [Option ID = 459]
4. 4 [Option ID = 460]



6)
Aute-ethinography s an approach that analyses

1, Persanal experiences
2, Community issues
3, Local tribes

4, Cultural digtance

W-AFg 90 Udr SUFH &, W HERRed B T fGa@T Q% &l 7

1, T e wg

2, UHEIA® A5
3, B ST
4, Hepld® gl

[Question ID = 116][Question Description = 111_0_GP18_SEP22_S2_Q11]
1. 1 [Option ID = 461]
2. 2 [Option ID = 462]
3. 3 [Option ID = 463]
4. 4 [Option ID = 464]

7)
Inresearch, middle range theoriesoperate ina

1, Widear domain

2, Limited domain

3, Flesable domain

4, Representative domain

AT I s Tad e o & 7

1 SIE &
2 i &
2, G &
4, U &

[Question ID = 117][Question Description = 112_0_GP18_SEP22_S2_Q12]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]



8)
Foor analysisin historical research s due to

A Impersonal interpretation

B, Emphiasis on objective assessment

C, Owver-generalisation

D, Over-simplification

E, MMon-identification of social context

Choose the correct answer from the options given below)

1.4 B and C onily
2. B, Cand Doonly
3. C DandEonly
4.4 Band Eonly

e Ty § S B T eRm g EeTe 2
A Fdgfeas sgren

B, TG FE Tl O 97

C, -G

D, BT Teim

E, g Yad sigeg@ 4 g[ T
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| HAAA BFRC
2 BB, CHRD
3. HAAC, DIANE
4, HAA B HRE

[Question ID = 118][Question Description = 113_0_GP18_SEP22_S2_Q13]
1 [Option ID = 469]
2 [Option ID = 470]
3 [Option ID = 471]
4 [Option ID = 472]

A w N =

9)
Given below are two statermnents

Statement |: Forus group discussion is part of farmative research,
Statement |l: Formative research can be both qualitative and quantitative,
Imlight of the above staterments, choose the correct answer from the options given below

1, Both Statement | and Statement |l are true
2, Both Statement | and Staterment || are false
3, Staterment | 1z true but Statement || s falze
4, Statement | iz false but Statemment || s rue
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[Question ID = 119][Question Description = 114_0_GP18_SEP22_S2_Q14]
1. 1 [Option ID = 473]
2. 2 [Option ID = 474]
3. 3 [Option ID = 475]
4. 4 [Option ID = 476]

10)
hAatch List | with List 11
List | List 1|
Tasts ofD -
escription
Reliability a

A Test and re-test || Delivering a quastionnaire in two parts, separately, to a sample group.

Il Providing different wersions of a questionnare which are equivalent far
B Inter-rater '

respondents,
C. Parallel forms  |lll. The same test is.conducted by different peaple.
0. Split-hal f W, The same test, over a period of time, is repeated.

Choose the correct answer fram the optiens given below:

T A-LE-ILC-N,D- 1
2A-IB-ILE -1V, D
AN EB-C-L D
4 8- B~ D=
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i BT T @t B ¥ 9l SR g

T A-LEB-ILC-ll, D-I¥
2 A B-LC -1, D
3, A=l B -G € =1 D)
A A= EB-ILC=1, D=

[Question ID = 120][Question Description = 115_0_GP18_SEP22_S2_Q15]
1. 1 [Option ID = 477]
2. 2 [Option ID = 478]
3. 3 [Option ID = 479]
4. 4 [Option ID = 480]

11)
Imcommunication, metaphors are considered in nature,

1, Precise

2, Imprecise

3, Mon-symbolic
4, Mon-reflective

YN H, T06 WHET FeHfET S U a9 a e ¢

1. URTE

2. ARG

3, IR udEE
4, TR- et

[Question ID = 121][Question Description = 116_0_GP18_SEP22_S2_Q16]
1. 1 [Option ID = 481]
2. 2 [Option ID = 482]
3. 3 [Option ID = 483]
4. 4 [Option ID = 484]

12)
Homogeneity of opinlon ameong groupsof people is mostly caused by

1, Mass cormimunization

2, Intra-personal communication
3, Inter-personal communication
4, Abstraction in communication



T g & it 7 B umEgar AfE R Frefifed & sRu e e

1, 57 T

2, 3 G feRTH TUNT]
3, 3fdafae TV
4, GOSN H SIS

[Question ID = 122][Question Description = 117_0_GP18_SEP22_S2_Q17]
1. 1 [Option ID = 485]
2. 2 [Option ID = 486]
3. 3 [Option ID = 487]
4. 4 [Option ID = 488]

13)
Which of the followirig are traditionial approaches to communication?

A, Machine-to-machine

B, Machine-to-man

C. Rhietorical

O, Semiotic

E. Phenomenalogical

Choose the correct answer fraom the opfions given below,

1.4 Band Conly
2.4 Drand E onily
3, B Cand Donly
4, C, Dand Eonly

YUy & Ry JUrE FEEEa e O g ¢
A FIE T 7 a@

B, WL ¥ 5 T

C. SABTRE

D. Wi li®

E, FeT A5 et

e BT T R O e SR A

1 HAAABIARC
2 HAAA D INE
3, HAAE, CHRD
4, A C, D HARE

[Question ID = 123][Question Description = 118_0_GP18_SEP22_S2_Q18]
1. 1 [Option ID = 489]
2. 2 [Option ID = 490]
3. 3 [Option ID = 491]
4. 4 [Option ID = 492]



14)
Given below are two staterments

Statement |: Personal canversation is more effective than a broadeast spesih,

Statement Il: The factor of personalisation makes the radio & more effective mears of
communication than a newspaper,

Imlight of the abowve staternents, choose the correct answer from the options given below

1, Both Staterment | and Statement || are trug
2, Both Statement | and Staterment || are false
3, Staternent | iz true but Statemeant || s falze
4, Statement | is false but Statement |l iz true

JeaTHyT R e,
YT - | AT T TETRT HIN0T &1 e 3w U e e |

WY - || T feIaTE & HREG GHEN UF 61 AUET HSY] &1 TUNT &1 S THET T 991 & |
Juad HYAl & ellE H FyfiEd Feedl ¥ ggT R gy

1,547 | R 1 T T E
2, Y1 AN BT IR
3 YT TT B, [ Y 1| T B
4,9 | T B, [~ Y7 || T E |

[Question ID = 124][Question Description = 119_0_GP18_SEP22_S2_Q19]
1. 1 [Option ID = 493]
2. 2 [Option ID = 494]
3. 3 [Option ID = 495]
4. 4 [Option ID = 496]

15)
hAatch List |with List 11
List | List Il
Type of Communication Description
A, Phatic | Decader becomas encoadear
B. Feedback I, Communication abaut communication
2 hWeta message I, Between equals
D Lateral communication I, To grest

Choose the correct answer from the options given below:

1 A-LEB-I,C-ID-l
2 A-IB-LE -1, D
= R [ = R o O |
4 8- B-LC=IL,D-I
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[Question ID = 125][Question Description = 120_0_GP18_SEP22_S2_Q20]
1. 1 [Option ID = 497]
2. 2 [Option ID = 498]
3. 3 [Option ID = 499]
4. 4 [Option ID = 500]

16)
Three numbers are in the ratio of 2:5:6 and thelrsum 5 663; Find the three numbers:

1,107,250, 308
2,102,250, 31
3,102,255, 308
4,112,250, 301

19 ST BT LT 25:6 & IR FAH PerlT 663 E S aH A BT 8 7

1,107,250, 306
2,102,250, 31
3,102,255, 306
4,172,250, 3M

[Question ID = 126][Question Description = 121_0_GP18_SEP22_S2_Q21]
1. 1 [Option ID = 501]
2. 2 [Option ID = 502]
3. 3 [Option ID = 503]
4. 4 [Option ID = 504]

17)
There are 15 students in a dass. The average age of the students and the teacher of the dass iz 15

years. The average age of the teacher and the studerits 15 2 years more than that of students, What s
the age of the class teacher?

1.48
2,50
3.43
4,45



UG BETE 15 3FE | TET S SH AR D &1 NGd 374 15 9 & | SET 7 =0E &1 ad
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1. 489Y
2. 509N
32,4399
4, 4594

[Question ID = 127][Question Description = 122_0_GP18_SEP22_S2_Q22]
1. 1 [Option ID = 505]
2. 2 [Option ID = 506]
3. 3 [Option ID = 507]
4. 4 [Option ID = 508]

18)
A shopkeeper professes tosell his'goods on cost price but uses 750 gm instead of 1 kg, What is his
gain in percentage?

1.33

2,353
3,303
4, 3333

UE P AGR T8 Valld HRATE & 98 Su-T §HH TrFa-Ied 07 BT a9aT ¢ | i 98 U e ae
& TR 750 T 81 101 & JHeE] arH-Hii=Id re 7

1.33
2,353
3303
4,33.33

[Question ID = 128][Question Description = 123_0_GP18_SEP22_S2_Q23]
1. 1 [Option ID = 509]
2. 2 [Option ID = 510]
3. 3 [Option ID = 511]
4. 4 [Option ID = 512]

19)
The simple interest on & sum of money is 4/9 of the principal. What will be the annual rate of
interest and time (inyears), if both of these are numerically equal?

1,69 and 6 years
2,68 % and 6.8 years
3. al % and 5i YIS

3 2
4.6, % and 6, YTS.



e 2R O QTR ST e ST 49 B | B B aTie s §1 o IR §Hg anT & are i gf gl
@ HEHG HH GHA B 7

1.6% 4N 6T
2.6.8%3N 689%

3.5%9&3ﬁ? e%ﬁﬁ
4,62 % 3R ﬁ%?ﬂl‘f

3

[Question ID = 129][Question Description = 124_0_GP18_SEP22_S2_Q24]
1. 1 [Option ID = 513]
2. 2 [Option ID = 514]
3. 3 [Option ID = 515]
4. 4 [Option ID = 516]

20)
Find thie wrang term in the series given below

5,010, 17, 24, 37, 50, 65

1.37
2,17
3,24
4,50

o P e o

AT e e Ua I 9IE 7
5,10, 17, 24, 37, 50, 65

1,37
2,17
3,24
4,50

[Question ID = 130][Question Description = 125_0_GP18_SEP22_S2_Q25]
1. 1 [Option ID = 517]
2. 2 [Option ID = 518]
3. 3 [Option ID = 519]
4. 4 [Option ID = 520]

21)
Which of the following propositions is obwerse of and logically equivalent to "Some men are
honest"?

1. Sore men are dishonest.
2, Some men are not dishonest,
3, Momenarae dishonest,

4, Some dishonest people are not men,



fone R

BRI

1 ORI EAAE |

2. B YN SSHM A8 & |

2. W RN A "B & |
4, 5 SHM AN YRY TR |

oo S o

W H T HA U e UPY SR & B ukiad R aifthe €U ¥ gEqe & 7

[Question ID = 131][Question Description = 126_0_GP18_SEP22_S2_Q26]
1. 1 [Option ID = 521]
2. 2 [Option ID = 522]
3. 3 [Option ID = 523]
4. 4 [Option ID = 524]

22)
Grver below are thwo staterments
Statement I: To obvert a propasition, we change ite quality and replace the predicate term with its
complement,
Statement Il Obversion is valid for any standard form categorical proposition,
I light of thie above statements, choose the correet answer from the options given below
1, Both Statement | and Statement|| are true
2, Bothy Statement | and Staterment || are false
3, Statement | iz true but Statement || is false
4, Statemmernt | iz false but Staterment || is rue
ElEE ARG

YT - | BH UD Wiagial & Wiadedd & o0 3HH TS GRa0T $3d & 97 949 0% &1 394 Q36
U WieyTud e & |

Ty - || ulded Frte e & ety ams 0 & e gy )
Iufa syl & s B P Ree B 8wt e g

1 HYA | AR Tele |
2 YT | R | E e &
3. Y| I &, g B 1| ST B |
4, WY | ST, (G HY | T8 |

[Question ID = 132][Question Description = 127_0_GP18_SEP22_S2_Q27]
1. 1 [Option ID = 525]
2. 2 [Option ID = 526]
3. 3 [Option ID = 527]
4. 4 [Option ID = 528]

23)
Which logical informal fallacy iz committed in the following argument, "Mo one has proved that

global warmirig is actually occuring, so there isno reason to believe that itis actually occuring,'?

1, Begging the questian
2, Equivocation

3, Appeal to igniorarice

4, Hasty generalisation



FERARET A # ST a1idh® T IRS &y By 7197 8 - fdhdT 3 S HT T8t [T g [ wiee
I @ T19-) gied 81 @18, T90E 98 [y & G dls DRI A6 6 [ 95 9lead 814618 |"

1, ATHATHT BN

2, BT

3, 3§ DT Ve

4, fF=TRT gt

[Question ID = 133][Question Description = 128_0_GP18_SEP22_S2_Q28]
1. 1 [Option ID = 529]
2. 2 [Option ID = 530]
3. 3 [Option ID = 531]
4. 4 [Option ID = 532]

24)
The argumerit, 'Sound iseternal, because it is produced’, isfallacious because:

1, Middle term is contradicted by another pramana (means of knowledge),

2, The middle term is too narrow,

3, Middle term itselFdisproves the originagl proposition and proves its contradictory,
4, The miner term 15 the locusof the middle term,

" YT 8, o1 98 SuTed B9l '- 59 4idd § ab-a ¥ & &lid

1, 3= WHT @ & TR G110 e S8 b =als |

2§ UG Afs dEii g |

3, 9 Ug S0+ oy Nivie uitsi & s g oeare o) 99e Al &) g o e |
4, 70T G HEE UG T [SGUY & |

[Question ID = 134][Question Description = 129_0_GP18_SEP22_S2_Q29]
1. 1 [Option ID = 533]
2. 2 [Option ID = 534]
3. 3 [Option ID = 535]
4. 4 [Option ID = 536]

25)
Which of the following Pramanas (mearis of knowledge) is differentiated into Svartha (for oneself)

arid Parartha (for others) twpes?

1, Pratsaksa (perception)

2, Anumana (inferance)

3, Upamana fcomparison)
4, Sabda (verbal testimaory)

FrfrT # 8 o um @9 &Tarm) §1 @Y (@9 & R FR o (37 & g vaRt | Bk
AFTEETE 2

1, UFE
2, 3T
3, JUH
4, 95.



[Question ID = 135][Question Description = 130_0_GP18_SEP22_S2_Q30]
1. 1 [Option ID = 537]
2. 2 [Option ID = 538]
3. 3 [Option ID = 539]
4. 4 [Option ID = 540]

26)
The collection of linked information residing on computers which is accessible through Internet is

called

1. HITR
2, HThAL
3, WA
4, URL

Feve & T O AT IR wvEl B T es YEATd O &1 A S O ST HeT A ¢

1 T ey
2 T ITHEA

3, By S B,
4 IR T

[Question ID = 136][Question Description = 131_0_GP18_SEP22_S2_Q31]
1. 1 [Option ID = 541]
2. 2 [Option ID = 542]
3. 3 [Option ID = 543]
4. 4 [Option ID = 544]

27)
are text files with'small pieces of data and are used to identify specific users and Improve

the web browsing experience,

1, Cookies

2, Bookmarks
3, Blogs

4, Wikis

FEkiEd 3 8 o serd 31¢ ST arll Ua- BiRe & SHSTHE ugiHE B9y 61 9edH 63+ IR
AT §TES L & ST T GYR B & O fTeTaTe 2

AR
3, S
4, APt

[Question ID = 137][Question Description = 132_0_GP18_SEP22_S2_Q32]
1. 1 [Option ID = 545]
2. 2 [Option ID = 546]
3. 3 [Option ID = 547]
4. 4 [Option ID = 548]



28)
Which of the following statements are correct regarding Radio Frequency [dentification (RFID)

tachinolgigy?

A RFID refers to g wireless system comprising two components | tags and readers:

B, The reader iz'a device that has one or more antennas that emit radio waves and receive signals
back fram the RFID tag,

C. Passive RFID tags are powered by the reader and do not have a battery,
Choose the correct answer from the opfions given below,

1.4 BandC

2, Band Conly
3 4 and Canly
4, A and Bonly

AT smafTgEaT Ui (R UE o e gy I Fufifea S o d HyT ge 8 7
A, SR U (TS S T Yo o T2 aei aaeeid Woel &1 37 & ove 3R Te8

B, Y1e¥ U 4feeT & e U 47 3ifieh ST B i ST 73] SRl el § o SR UW 9 Sl e @
Heb el g1 WIS B3 2

¢, FfsFg sR o og St BT St g Sl 2 ol & o o8 S gt g
Frr fGu e Meen § Y uEl SR

1 ABIRC

> Hadp AN C
3 HAAAHRC
4 HIAAARE

[Question ID = 138][Question Description = 133_0_GP18_SEP22_S2_Q33]
1. 1 [Option ID = 549]
2. 2 [Option ID = 550]
3. 3 [Option ID = 551]
4. 4 [Option ID = 552]



*) Which of the following hardware components will lose data when the power to a computer |5
switched off?
A Processor Registers
B, Cache Memaory
850
O, RAR
E RO

Choose the correct answer from the opfions given below,

1.8 and D only

2.4 C and D anly
3 A Band Conly
4. A Band Donly

HOE &1 e o da v IR RgfifE 3 8 998 g1SdR vea !  Ser e g Sy
A, HHT U @)

B, BT (&) T

CUHTUH T

D, AR ETH

E S & TH

e w7 e+ & wel I

1 HaAe AR D

2 HgAA CHRD
3 HAAA BFRC
4, HIA A BIARD

[Question ID = 139][Question Description = 134_0_GP18_SEP22_S2_Q34]
1. 1 [Option ID = 553]
2. 2 [Option ID = 554]
3. 3 [Option ID = 555]
4. 4 [Option ID = 556]

30)
An examiple of a cyber exacerbated crime is

1, Cyber wandalism
2, Cyber piracy

3, Cyber stalking
4, Cyber trespass



FERET 3§ ¥ & Us Hige Iuiiad SR E ?

1 TREE FaLdT

2 RET AN

3, GEE UlST &A1 (1)
4 TIREE Sfaeam

[Question ID = 140][Question Description = 135_0_GP18_SEP22_S2_Q35]
1. 1 [Option ID = 557]
2. 2 [Option ID = 558]
3. 3 [Option ID = 559]
4. 4 [Option ID = 560]

31)
Hardness of water is'caused by the presence of

1, Solid particles in thie water
2, Pathogens in the water

3, Toxic metalsin the water
4, Cations in the water

FuffEa A ¢ ys! ol S eRT O S Ha RAIER B 7

1 HEH A B

2, e T

3, 9 T AT e
4,5 T

[Question ID = 141][Question Description = 136_0_GP18_SEP22_S2_Q36]
1. 1 [Option ID = 561]
2. 2 [Option ID = 562]
3. 3 [Option ID = 563]
4. 4 [Option ID = 564]

32)
Redudng the intensity of noise by a factor of 10 will mean areduction in noise level by

1.10dB
2,20dB
3,3dB
4 6dB

10 8 U 9t (reey) Y TR 610 18d1 &1 0eH R R H [ TR &1 9eE g7 7

1,10dB
2,20dB
3.3de
4.6dE

[Question ID = 142][Question Description = 137_0_GP18_SEP22_S2_Q37]
1. 1 [Option ID = 565]
2. 2 [Option ID = 566]
3. 3 [Option ID = 567]
4. 4 [Option ID = 568]



33)
Giver below are two staterments

Statement |: Photowaltaic cells are often made up of crystal silicon,

Statement Il Photoveltaic cells are also made up of inexpensive amorphous silicon, which is like

ordinary glass and has o crystal properties.

I light of the above statements, choose the most appropriate answer from the options given below

1, Both Staterment | and Staterment|l are correct

2, Both Statement | and Statement |l are incorrect

3, Statement | is correct but Statemerit || is incorrect
4, Statemment | isincorrect but Statement || s correct

:ﬂ%aﬁﬁﬁﬁma
WY - | W a9 el UiT: o e s a- g el

WY - || W e 10 od T ey o & dhed 80 B S 9Eny o 99 g1 & 4R
FTH1 ST e o T8l §id|

Il wYA] & Siiis H FH e fdeed] # 8 9e g g

1,547 IR G OE R
2, YA | SN | & e g
3. YA 1 qW 6, [ By (| e 8 |
4,9 | ST B, [ YT | BT E |

[Question ID = 143][Question Description = 138_0_GP18_SEP22_S2_Q38]
1 [Option ID = 569]
2 [Option ID = 570]
3 [Option ID = 571]
4 [Option ID = 572]

A W N -

34)

Grver below are byo statements, one is labelled as Assertion A and the otherislabelled a5 Reason

R

Assertion A: Biomass (g considered as carbon neutral,

Reason R: Thie amount of carbon they emitis equal to the amaunt of carbion they have consumed

during their life-time,

Im light of the abowe statements; choose the moest appropriate ariswer from the options given

bl o

1, Both A anid R are correct and R is the correct explanation of A

2, Both A anid R are correct but R is NOT the correct explanation of A
3, Alis carrect but R is not correct

4, Alis notcorrect but R is correct



TR oy RU e Uo ! (fhmyT () SR G5 & DRI (R) TETHTE |
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[Question ID = 144][Question Description = 139_0_GP18_SEP22_S2_Q39]
1. 1 [Option ID = 573]
2. 2 [Option ID = 574]
3. 3 [Option ID = 575]
4. 4 [Option ID = 576]

35)
Which of the following pollutant causes gggravation of respiratory diseass, and atmospheric
discolouration?

1, Carbon monoxide
2, Lead

3, Mitrogen dioxide
4, Ozane

IR # O @ aTHENe 0 e I N argHSe g sgat 7 gie S & 7

1, B AR

2, Ty

3, TRch SRR
4,

[Question ID = 145][Question Description = 140_0_GP18_SEP22_S2_Q40]
1. 1 [Option ID = 577]
2. 2 [Option ID = 578]
3. 3 [Option ID = 579]
4. 4 [Option ID = 580]

36)
The Gowenment of India in Movernber 1948 appointed a University Education Commission under
the Chairmanship of.

1, Dy 8, Kathiar

2, Ms. Sucheta Kriplani
3, O, 3, Radhakrishirian
4, Mrs; Arnie Bezant



IR 1948 H HRT TR - [drm ! srearn o [dyfderer Rem s e e o1 4 2
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2 ot AT guaHT
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[Question ID = 146][Question Description = 141_0_GP18_SEP22_S2_Q41]
1. 1 [Option ID = 581]
2. 2 [Option ID = 582]
3. 3 [Option ID = 583]
4. 4 [Option ID = 584]

37)
Harisa hehita Committes was appointed by the Mational Coundl for Women's Education in 1962
with the purpose to;

1, carry out inspeaction of schoolsin rural areas,

2, examine the differentiation of curriculum for boys and girls at all stages of education,
3, establishrscierice laboratories in universities.

4, formulate policy for use of educational satellites far rural areas,

1962 H AT RI&T I URNG (TR0 HISRT BR 99 TbR) §RT HgE g8 Hedl T &1
FeF T -

1, T &5 H R @ R e

2, &N & gt TR IR IeE L AR T el & unTe ! § BieT sl usae oA
3, [y TRt & Q5 & 1 T TRITeTSl & IR ST

4 I &7 & o Deire-guTe & o gl i Fyiig e

[Question ID = 147][Question Description = 142_0_GP18_SEP22_S2_Q42]
1. 1 [Option ID = 585]
2. 2 [Option ID = 586]
3. 3 [Option ID = 587]
4. 4 [Option ID = 588]

38)
Whio among the following established the central Hindu Girl's Schiool at Banaras with the object of

imparting western education to girls?

1, Annie Besant

2, Sarojini Maidu

3, Raja Ram Kohan Ray

4, |shwar Chandra Vidyasagar

FrofifaT 18 e et i e ves o9 & s U RT 1 S B o R
e P E AR

1, T A=

2, AR g

3 I T HEA 14
4, Fu¥ dg RaEmR



[Question ID = 148][Question Description = 143_0_GP18_SEP22_S2_Q43]
1. 1 [Option ID = 589]
2. 2 [Option ID = 590]
3. 3 [Option ID = 591]
4. 4 [Option ID = 592]

39)
Giver below are two staterments

Statement I: Swayam Prabha consists of a group of 34 DTH channels using GSAT-15 satellites on
24%7 basis,

Statement |l: The coricept note for Mational Education Policy prepared by MHRD in 2074 identified
ag many as 53 themes,

I light of the above statements, choose the most appropriaie answer from the options given below

1, Both Staterment | and Statement|l are correct

2, Both Statement | and Statement || are incorrect

3, Staternent | iz correct but Statement || is incorrect
4, Statemment | isincorract but Statement || s correct

TR a ey Rume .
YT - | WHYHT SO TS, SUUET BT IR BT 247 TR U U 24 S, T9d S UH
TEE|

HYT - 2014 A UH O RS (e ) g R T e A uR TR B T sEyRu-gE A
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1, @Y ARG TR |
2, Y1 AN BT IR
3. HYT I e, g By (| TR
4, YA TR B, [ YT || GET g

[Question ID = 149][Question Description = 144_0_GP18_SEP22_S2_Q44]
1. 1 [Option ID = 593]
2. 2 [Option ID = 594]
3. 3 [Option ID = 595]
4. 4 [Option ID = 596]



40)

Match List | with List 11

List |

List Il

Educational Initiatives

Description

&, Rashtriva Uchchatar Shiksha Abhivan

| Promote innovation of a higher arder that directly
impacts the needs of the industries

B. Global Initiative an Academic Metwork

Il. Invite international faculties t¢ give shart term
programmes to Indian students,

. Uchchtar Avishkar Yojana

Il Promote researchin frontier areas of knowledge

India‘s Developing Economy

0. Scheme for Trans-disciplinary Research for

higher education

Choose the correct answer from the options given below:

T A=LEB-IL,C-N,D- 1
2 A-LEB-IC-1,D-1
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[Question ID = 150][Question Description = 145_0_GP18_SEP22_S2_Q45]

1. 1 [Option ID = 597]
2. 2 [Option ID = 598]
3. 3 [Option ID = 599]
4. 4 [Option ID = 600]

Topic:- GP_SH1_S2_C

W, Improvement of actess, eguity and quality in




) Read the given passage and answer the questions that follow

The 'new middle class’ in India is upwardly mobile, educated mostly in English and works in
professional, technical and/or managerial careers. It is connected to global networks of consumption,
consuming global brands and aspiring toward lifestyles of conspicuous consumption. The identity of
this class is defined by its participation in global commodity chains. The market defines the identity of
the middle class, as a site of identity formation, expression and aspiration. Also salient within the new
middle class are several strata, The hightest stratum is occupied by the white collar corporate mid-to-
high level managers who actively participate in transnational capitalism. What connects these various
groups in the elite class is a common vision of the nation-state narrated in the miracle of the market.
The articulation of the market as the centre of India's economic growth and development is the
averarching anchor for the various discourses of the policy-making and implementation. The middle
class in India make up a segment of India’s elite. They participate in the consumption culture of India.
This culture is enabled by rapid reforms and punctuated in the rise of urban hubs of belonging.
Belonging in this is recrafted in the story of consumption and lifestyles. Here consumption is equated
to development and modernisation.

The new middle class in India is hugely active in;

1. Adopting innovative lifestyles

2. Acquiring new technical competence
3. Redefining the business strategies

4. Conspicuous consumption

Frerfertas et #1 vz By g wt & o= e
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2. q a1 &Far Jifd B R

3. TEEIA® BE-ag] B GIdRHINT B 7
4. gude g R

[Question ID = 151][Question Description = 146_0_GP18_SEP22_S2_Q46]



A wnN =

1 [Option ID = 601]
2 [Option ID = 602]
3 [Option ID = 603]
4 [Option ID = 604]

2) Read the given passage and answer the questions that follow

The 'mew middle class' in India is upwardly mobile, educated mostly in English and works in
professional, technical and/or managerial careers. Itis connected to global networks of consumption,
consuming global brands and aspiring toward lifestyles of conspicuous consumption. The identity of
this class is defined by its participation in global commaodity chains. The market defines the identity of
the middle class, as a site of identity formation, expression and aspiration. Also salient within the new
middle class are several strata. The hightest stratum is occupied by the white collar corporate mid-to-
high level managers who actively participate in transnational capitalism. What connects these various
groups in the elite class is a common vision of the nation-state narrated in the miracle of the market.
The articulation of the market as the centre of India's economic growth and development is the
overarching anchor for the various discourses of the policy-making and implementation. The middle
class in India make up a segment of India’s elite. They participate in the consumption culture of India,
This culture is enabled by rapid reforms and punctuated in the rise of urban hubs of belonging.
Belonging in this is recrafted in the story of consumption and lifestyles. Here consumption is equated

to development and modernisation.
The participation in global commaodity chains has given the middle class its own

1. |dentity
2. Market
3. Economic Status
4, Upward mobility

et e 1 wE B T et F = ST
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1.989H
2. 9NR

3. il wiagr

4, U Rt TTferefierr



[Question ID = 152][Question Description = 147_0_GP18_SEP22_S2_Q47]
1. 1 [Option ID = 605]
2. 2 [Option ID = 606]
3. 3 [Option ID = 607]
4. 4 [Option ID = 608]

3) Read the given passage and answer the questions that follow

The ‘new middle class’ in India is upwardly mobile, educated mostly in English and works in
professional, technical and/or managerial careers. It is connected to global networks of consumption,
consuming global brands and aspiring toward lifestyles of conspicuous consumption. The identity of
this class is defined by its participation in global commodity chains. The market defines the identity of
the middle class, as a site of identity formation, expression and aspiration, Also salient within the new
middle class are several strata. The hightest stratum is occupied by the white collar corporate mid-to-
high level managers who actively participate in transnational capitalism. What connects these various
groups in the elite class is a common vision of the nation-state narrated in the miracle of the market.
The articulation of the market as the centre of India’s economic growth and development is the
overarching anchor for the various discourses of the policy-making and implementation. The middle
class in India make up a segment of India’s elite. They participate in the consumption culture of India.
This culture is enabled by rapid reforms and punctuated in the rise of urban hubs of belonging,
Belonging in this is recrafted in the story of consumption and lifestyles. Here consumption is equated
to development and modernisation.

The 'new middle class' is associated with

1. The production of global brands
2. Market expansion

3. Global capitalism

4. White collar supremacy
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[Question ID = 153][Question Description = 148_0_GP18_SEP22_S2_Q48]
1. 1 [Option ID = 609]
2. 2 [Option ID = 610]
3. 3 [Option ID = 611]
4. 4 [Option ID = 612]

4) Read the given passage and answer the questions that follow

The ‘new middle class’ in India is upwardly mobile, educated mostly in English and works in
professional, technical and/or managerial careers. It is connected to global networks of consumption,
consuming global brands and aspiring toward lifestyles of conspicuous consumption. The identity of
this class is defined by its participation in global commeodity chains. The market defines the identity of
the middle class, as a site of identity formation, expression and aspiration. Also salient within the new
middle class are several strata. The hightest stratum is occupied by the white collar corporate mid-to-
high level managers who actively participate in transnational capitalism. What connects these various
groups in the elite class is a common vision of the nation-state narrated in the miracle of the market,
The articulation of the market as the centre of India’s economic growth and development is the
overarching anchor for the various discourses of the policy-making and implementation. The middle
class in India make up a segment of India’s elite. They participate in the consumption culture of India.
This culture is enabled by rapid reforms and punctuated in the rise of urban hubs of belonging,
Belonging in this is recrafted in the story of consumption and lifestyles, Here consumption is equated
to development and modernisation.

The elite class has a vision of the nation-state anchored by

1. Policy discourses

2. Market miracle

3. Limitless consumption
4. Corporate narratives
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%) Read the given passage and answer the questions that follow

The ‘new middle class’ in India is upwardly mobile, educated mostly in English and works in
professional, technical andfor managerial careers. It is connected to global networks of consumption,
consuming global brands and aspiring toward lifestyles of conspicuous consumption. The identity of
this class is defined by its participation in global commaodity chains. The market defines the identity of
the middle class, as a site of identity formation, expression and aspiration. Also salient within the new
middle class are several strata. The hightest stratum is occupied by the white collar corporate mid-to-
high level managers who actively participate in transnational capitalism. What connects these various
groups in the elite class is a common vision of the nation-state narrated in the miracle of the market.
The articulation of the market as the centre of India’s economic growth and development is the
overarching anchor for the various discourses of the policy-making and implementation. The middle
class in India make up a segment of India’s elite. They participate in the consumption culture of India.
This culture is enabled by rapid reforms and punctuated in the rise of urban hubs of belonging.
Belonging in this is recrafted in the story of consumption and lifestyles, Here consumption is equated
to development and modernisation.

The main theme of the passage is:

1. Market-driven middle class identity

2. Need for high level consumption

3. Negative effect of modernised consumption
4. Emergence of knowledge enterprises
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4. 4 [Option ID = 620]




